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Conduct a discussion in the class on the significance of weather studies in day-to-day human 
activities. Hints: Agriculture, travel/transport, fishing, tourism. 

Answer: Weather studies are crucial for various human activities, as they help us plan and adapt to 
atmospheric conditions. In agriculture, weather forecasts guide farmers in deciding when to plant, 
irrigate, or harvest crops. For example, in Kerala, farmers rely on monsoon predictions to grow rice, 
ensuring timely sowing during the southwest monsoon. In travel and transport, weather impacts 
safety and scheduling. Airlines avoid turbulent weather, and ships adjust routes to dodge storms, 
ensuring passenger safety and timely deliveries. For fishing, fishermen depend on weather reports 
to avoid rough seas or storms, which could endanger lives and damage boats. Accurate forecasts 
help them choose safe fishing times, boosting their livelihood. In tourism, weather influences 
destination choices and activities. Tourists prefer visiting Kerala’s beaches during sunny weather or 
hill stations like Munnar during cooler seasons. Weather studies, supported by the Indian 
Meteorological Department (IMD), enable better decision-making, reduce risks, and enhance 
efficiency across these sectors, making them essential for daily life. 

 

What are Green Houses? Inquire. 

Answer: Greenhouses are structures made of glass or plastic designed to trap heat and create a 
controlled environment for growing plants. They allow sunlight to enter, warming the interior, while 
preventing heat from escaping, mimicking the atmospheric greenhouse effect. In the atmosphere, 
gases like carbon dioxide trap terrestrial radiation, maintaining Earth’s temperature. Similarly, 
greenhouses maintain warm conditions, enabling year-round cultivation of crops, even in cold 
climates. They are used in agriculture to grow vegetables, flowers, and fruits, protecting plants from 
adverse weather and pests while optimizing growth conditions. 

 

Discuss the importance of heat budget in sustaining the earth as a life-supporting planet. 

Answer: The heat budget of Earth is the balance between incoming solar energy (insolation) and 
outgoing terrestrial radiation, crucial for maintaining a stable surface temperature that supports life. 
Insolation, a small fraction of the sun’s energy, heats Earth’s surface, which then transfers heat to 
the atmosphere via conduction, convection, advection, and radiation. Terrestrial radiation, emitted 
as long waves, is partially absorbed by atmospheric gases like carbon dioxide through the 
greenhouse effect, preventing excessive cooling. This balance ensures Earth’s average temperature 
remains within a range suitable for life, neither too hot like Venus nor too cold like Mars. Without 
the heat budget, extreme temperature fluctuations would disrupt ecosystems, making survival 
impossible for plants, animals, and humans. For example, consistent temperatures in Kerala support 
its tropical climate, enabling agriculture and biodiversity. The heat budget also drives weather 
patterns, such as monsoons, essential for water cycles and food production. Preserving this balance 
is vital to prevent climate disruptions, highlighting the need for sustainable practices to maintain 
Earth as a life-supporting planet. 
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Do we get the same amount of energy from the sun throughout the day? 

Answer: No, we do not get the same amount of energy from the sun throughout the day. The 
amount of insolation varies due to the Earth’s rotation and the angle of solar rays. In the morning, 
the sun’s rays are oblique, covering a larger area and delivering less energy per unit area. As the day 
progresses, the rays become more vertical, peaking around noon, when insolation is most intense. 
By afternoon, the angle decreases again, reducing energy input. Additionally, atmospheric factors 
like clouds or dust can block insolation. This variation causes the surface temperature to rise 
gradually, peaking at 2 PM due to delayed atmospheric heating, and decline thereafter as terrestrial 
radiation exceeds insolation, especially at night. 

 

Calculate the diurnal range of temperature and the daily mean temperature if the maximum and 
minimum temperatures of a place are 36°C and 28°C respectively. 

Answer: 

• Diurnal Range of Temperature = Maximum temperature - Minimum temperature = 36°C - 
28°C = 8°C 

• Daily Mean Temperature = (Maximum temperature + Minimum temperature) / 2 = (36°C + 
28°C) / 2 = 64°C / 2 = 32°C 

 

Is the distribution pattern of isotherms shown in the map uniform? You might have noticed that 
the temperature gradually decreases while moving away from the equator. 

Answer: The distribution pattern of isotherms is not uniform. Isotherms, which connect places with 
equal temperatures, show a general trend of decreasing temperature from the equator to the poles 
due to the angle of solar rays. Near the equator, vertical rays cause higher temperatures, while 
oblique rays at higher latitudes result in lower temperatures. However, the pattern is disrupted by 
factors like land-sea distribution, ocean currents, and relief. For example, isotherms bend at land-sea 
interfaces because land heats and cools faster than water, creating temperature contrasts. In the 
Southern Hemisphere, isotherms are more parallel to latitudes due to extensive ocean coverage, 
which moderates temperature variations. These non-uniform patterns reflect the complex interplay 
of factors influencing global temperature distribution. 

 

The isotherms show a noticeable bend along land-sea confluences. What may be the reason? 

Answer: Isotherms bend along land-sea confluences due to the differential heating of land and sea. 
Land heats up and cools down faster than water because of its lower specific heat capacity, leading 
to higher temperatures on land during the day or summer and lower temperatures at night or 
winter. In contrast, seas maintain more stable temperatures due to their high heat capacity and 
water circulation. This creates a temperature contrast at coastal boundaries, causing isotherms to 
curve. For example, during summer, coastal land areas are warmer than adjacent seas, bending 
isotherms inward over land. This effect is evident in Kerala, where coastal areas have moderated 
temperatures compared to inland regions, influencing isotherm patterns. 
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Compared to the Northern Hemisphere, Isotherms are more or less parallel to the latitudes in the 
Southern Hemisphere. Why? 

Answer: Isotherms are more parallel to latitudes in the Southern Hemisphere because it has a 
greater proportion of ocean coverage compared to the Northern Hemisphere. Oceans have a high 
specific heat capacity, meaning they heat and cool slowly, resulting in more uniform temperature 
distribution across latitudes. In contrast, the Northern Hemisphere has more landmasses, which heat 
and cool rapidly, causing significant temperature variations and bending isotherms. Ocean currents 
in the Southern Hemisphere, like the Antarctic Circumpolar Current, further stabilize temperatures, 
aligning isotherms closely with latitude lines. For example, the vast Southern Ocean minimizes 
temperature contrasts, unlike the land-dominated Northern Hemisphere, where isotherms curve 
due to land-sea temperature differences. 

 

Observe the diagram (Fig 1.5). Familiarise the temperature zones and identify the latitudes 
between which these zones are located. 

Answer: The temperature zones of Earth, based on the angle of insolation, are: 

• Tropical Zone: Located between the Tropic of Cancer (23.5°N) and the Tropic of Capricorn 
(23.5°S). This zone receives nearly vertical solar rays, resulting in high temperatures year-
round, as seen in Kerala’s tropical climate. 

• Temperate Zone: Found between the Tropic of Cancer (23.5°N) and the Arctic Circle (66.5°N) 
in the Northern Hemisphere, and between the Tropic of Capricorn (23.5°S) and the Antarctic 
Circle (66.5°S) in the Southern Hemisphere. This zone experiences moderate temperatures 
with distinct seasons. 

• Frigid (Polar) Zone: Extends from the Arctic Circle (66.5°N) to the North Pole (90°N) and 
from the Antarctic Circle (66.5°S) to the South Pole (90°S). This zone receives oblique solar 
rays, leading to extremely cold temperatures and polar climates. 

 

Observe the diagram (Fig 1.6). Familiarise the decrease in temperature with altitude. Estimate the 
temperature at 6 km altitude and label it. 

Answer: Temperature decreases with altitude at an average rate of 6.5°C per kilometer, known as 
the environmental lapse rate. Assuming a surface temperature of 30°C (a typical value for tropical 
regions like Kerala), the temperature at 6 km altitude can be estimated as follows: 

• Temperature decrease = 6.5°C/km × 6 km = 39°C 

• Temperature at 6 km = 30°C - 39°C = -9°C 

Thus, at 6 km altitude, the temperature is approximately -9°C. This decrease occurs because air 
density and insolation absorption reduce with height, making higher altitudes colder. 
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Why do we generally experience low temperature at places situated at higher elevations such as 
Ooty, Munnar, and Kodaikanal? 

Answer: Places at higher elevations, like Ooty, Munnar, and Kodaikanal, experience low 
temperatures due to the decrease in air density and atmospheric pressure with altitude. As altitude 
increases, the atmosphere becomes thinner, reducing its ability to absorb and retain insolation. The 
environmental lapse rate indicates a temperature drop of about 6.5°C per kilometer. Additionally, 
higher elevations receive less terrestrial radiation from the Earth’s surface, as they are farther from 
the heated ground. For example, Munnar, located at around 1.5 km above sea level, is cooler than 
coastal Kochi because of this lapse rate and reduced atmospheric insulation. The thinner air also 
allows more heat to escape, contributing to the cold climate, making these hill stations popular for 
their pleasant weather compared to lowland areas. 

 

Look at the diagram (Fig 1.7). Analyse, which place, A or B, experiences the highest diurnal range 
of temperature. Give reason for your answer. 

Answer: Place B experiences the highest diurnal range of temperature. The diurnal range is the 
difference between the maximum and minimum temperatures of a day. Place B, likely an inland 
location, has a higher diurnal range because land heats up and cools down faster than water due to 
its lower specific heat capacity. During the day, land absorbs insolation quickly, reaching high 
temperatures, and at night, it loses heat rapidly, dropping to low temperatures. In contrast, Place A, 
likely a coastal area, has a lower diurnal range because the sea moderates temperatures, heating 
and cooling slowly. For example, inland areas like Palakkad in Kerala have greater temperature 
swings than coastal Kochi, reflecting the pattern shown in the diagram. 

 

Diurnal range of temperature is generally low in Kerala. Why? 

Answer: The diurnal range of temperature in Kerala is generally low due to its coastal location and 
proximity to the sea. The sea has a high specific heat capacity, meaning it heats and cools slowly, 
moderating the temperature of nearby land areas. During the day, sea breezes bring cooler air to the 
coast, preventing excessive heating, while at night, the sea releases stored heat, keeping 
temperatures relatively warm. This maritime influence ensures minimal temperature fluctuations 
between day and night. Additionally, Kerala’s tropical climate, with high humidity and frequent cloud 
cover, reduces insolation intensity and heat loss, further stabilizing temperatures. For example, 
coastal cities like Thiruvananthapuram experience smaller diurnal ranges compared to inland areas, 
contributing to Kerala’s consistently mild climate. 

 

Why do we feel discomfort like clogging of ears while travelling to higher elevations? 

Answer: We feel discomfort like clogging of ears while traveling to higher elevations because 
atmospheric pressure decreases with altitude at a rate of about 1 millibar per 10 meters. At sea 
level, the pressure is higher, but as we ascend to places like Munnar, the lower external pressure 
creates an imbalance with the higher pressure inside our ears. The Eustachian tube, which equalizes 
pressure between the middle ear and the atmosphere, may not adjust quickly enough during rapid 
ascent, causing a sensation of clogging or popping. This discomfort is temporary and can be 
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alleviated by swallowing, yawning, or chewing gum, which helps open the Eustachian tube and 
equalize pressure, making the transition to higher altitudes more comfortable. 

 

Coastal regions experience comparatively lower atmospheric pressure than interior locations. 
Why? 

Answer: Coastal regions experience lower atmospheric pressure than interior locations due to the 
influence of temperature and humidity. Coastal areas, like those in Kerala, are warmed by the sea, 
which maintains relatively high temperatures. Warm air expands and rises, creating low-pressure 
zones. Additionally, the high humidity in coastal regions, caused by evaporation from the sea, 
reduces atmospheric pressure because water vapor is lighter than dry air components like nitrogen 
and oxygen. In contrast, interior locations, farther from the sea, have less maritime influence, lower 
humidity, and often cooler temperatures, leading to higher pressure as air contracts and sinks. This 
pressure difference drives winds, such as sea breezes, from higher-pressure sea areas to lower-
pressure coastal land during the day. 

 

What is the name given to the monsoon winds blowing towards the north east direction in India? 

Answer: The monsoon winds blowing towards the northeast direction in India are called the 
Northeast Monsoon Winds. These winds occur during winter (October to December) when high 
pressure develops over the cooled northern Indian landmass, causing dry winds to blow from the 
land towards the Indian Ocean in a northeast direction. 

 

One of the major factors influencing the direction of winds is the Coriolis Force. You have learnt 
about Coriolis Force in your earlier classes. What is Coriolis Force? 

Answer: The Coriolis Force is an apparent force caused by the Earth’s rotation, which deflects 
moving objects, including winds, to the right in the Northern Hemisphere and to the left in the 
Southern Hemisphere. It arises because different parts of the Earth rotate at different speeds, with 
the equator moving faster than the poles. For example, winds blowing towards the equator are 
deflected eastward (right in the Northern Hemisphere, left in the Southern Hemisphere), influencing 
the direction of trade winds and monsoons. The Coriolis Force does not affect wind speed but 
significantly shapes global wind patterns, such as the northeast trade winds in India or the 
southwest monsoon winds, ensuring they follow curved paths rather than straight lines. 

 

Analyse the patterns of isobars given below (fig 1.15) and find out where the winds are strong. 
(Put a tick mark) 

Answer: Winds are strong where isobars are closely spaced, indicating a high pressure gradient. A 
high pressure gradient means a significant change in pressure over a short distance, causing air to 
move rapidly from high to low pressure areas. In the diagram, the region with closely spaced isobars 
(e.g., near a low-pressure center marked ‘L’) would have strong winds. I would place a tick mark in 
this region, as the tight isobar pattern suggests intense wind speeds due to the steep pressure 
difference driving rapid air movement. 
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Winds are comparatively stronger over oceans than over continents. Why? 

Answer: Winds are stronger over oceans than over continents due to lower frictional resistance. 
Oceans have smooth surfaces, allowing air to flow freely with minimal obstruction. In contrast, 
continents have varied terrain, including hills, mountains, forests, and buildings, which create 
friction, slowing down winds. Additionally, oceans often experience higher pressure gradients due to 
temperature differences between warm and cold water masses, driving stronger winds. For 
example, westerlies are stronger in the Southern Hemisphere’s oceans, where landmasses are 
fewer, compared to the Northern Hemisphere’s land-dominated regions. This reduced friction over 
oceans contributes to the intensity of winds, influencing global wind patterns and maritime weather. 

 

Trade winds are North Easterlies in the Northern Hemisphere and are South Easterlies in the 
Southern Hemisphere. Why? 

Answer: Trade winds are northeast winds in the Northern Hemisphere and southeast winds in the 
Southern Hemisphere due to the Coriolis Force. These winds blow from subtropical high-pressure 
belts (around 30°N/S) towards the equatorial low-pressure belt. In the Northern Hemisphere, the 
Earth’s rotation deflects winds to the right, turning winds blowing south into northeast trade winds. 
In the Southern Hemisphere, winds are deflected to the left, turning winds blowing north into 
southeast trade winds. This deflection occurs because the Coriolis Force acts perpendicular to the 
direction of motion, altering wind paths. For example, in the Northern Hemisphere, trade winds 
blow from the northeast, aiding historical sailing routes, while in the Southern Hemisphere, they 
blow from the southeast, shaping regional weather patterns. 

 

Westerlies are comparatively stronger in the Southern Hemisphere than in the Northern 
Hemisphere. Why? 

Answer: Westerlies are stronger in the Southern Hemisphere than in the Northern Hemisphere due 
to reduced frictional resistance from landmasses. The Southern Hemisphere has vast ocean areas, 
like the Southern Ocean, with minimal land to obstruct wind flow, allowing westerlies to gain speed 
and intensity. In contrast, the Northern Hemisphere has large continents, such as North America and 
Eurasia, with mountains, forests, and cities that create friction, slowing down winds. Additionally, 
the pressure gradient between subtropical high-pressure belts (30°S) and subpolar low-pressure 
belts (60°S) in the Southern Hemisphere is often steeper due to oceanic temperature contrasts, 
enhancing wind strength. For example, the “Roaring Forties” in the Southern Hemisphere are 
notorious for strong westerlies, impacting maritime navigation, unlike the weaker westerlies in the 
Northern Hemisphere. 
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Land Breezes and Sea Breezes. You have learnt about the formation of land breezes and sea 
breezes in the previous class. Illustrate the land breezes and sea breezes and write a note on their 
formation in your notebook. 

Answer: 

• Illustration (Description for Notebook):  

o Sea Breeze: During the day, draw a diagram showing the sun heating the land faster 
than the sea. Indicate a low-pressure area over the land and a high-pressure area 
over the sea. Draw arrows from the sea to the land, representing cool sea breezes 
blowing inland. 

o Land Breeze: At night, draw the land cooling faster than the sea, creating a high-
pressure area over the land and a low-pressure area over the sea. Show arrows from 
the land to the sea, representing cool land breezes blowing towards the sea. 

• Note on Formation: Sea breezes and land breezes are periodic winds caused by differential 
heating of land and sea. During the day, land heats up faster than the sea due to its lower 
specific heat capacity, creating a low-pressure area over the land as warm air rises. The sea, 
cooler and under higher pressure, sends cool air inland as a sea breeze, moderating coastal 
temperatures. At night, the land cools faster than the sea, forming a high-pressure area over 
the land and a low-pressure area over the sea. Cool air from the land flows towards the sea 
as a land breeze. These breezes, common in coastal areas like Kerala, influence local 
weather, providing relief from heat during the day and affecting fishing and agriculture. 

 

Compare the tropical cyclones with temperate cyclones and prepare a note. 

Answer: 

• Note on Comparison of Tropical and Temperate Cyclones: Tropical and temperate cyclones 
are low-pressure systems with distinct characteristics and impacts. Tropical Cyclones form 
over warm tropical oceans with sea surface temperatures above 26°C, typically between 5° 
and 20° latitude. They are smaller in diameter (100–500 km) but highly destructive, with 
wind speeds exceeding 119 km/h, heavy rainfall, and storm surges. They dissipate over land 
due to friction and lack of warm moisture, as seen in hurricanes or typhoons. Temperate 
Cyclones, formed at fronts where warm and cold air masses meet (30°–60° latitude), are 
larger (1000–2000 km) but less destructive, with moderate winds and widespread rain. They 
can move over land, persisting due to dynamic atmospheric interactions. 

Key Differences: 

o Origin: Tropical cyclones arise from warm ocean waters; temperate cyclones form at 
frontal boundaries. 

o Size and Intensity: Tropical cyclones are smaller and more intense; temperate 
cyclones are larger and less severe. 

o Movement: Tropical cyclones weaken over land; temperate cyclones can traverse 
land. 
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o Impact: Tropical cyclones cause devastating floods and wind damage (e.g., Kerala 
floods, 2018); temperate cyclones bring steady rain, aiding agriculture but causing 
mild flooding. 

Similarities: Both are low-pressure systems with anticlockwise winds in the Northern Hemisphere 
and clockwise in the Southern Hemisphere, driven by pressure gradients and the Coriolis Force. 

Significance: Understanding these cyclones helps in disaster preparedness. In Kerala, tropical 
cyclones require robust evacuation plans, while temperate cyclones in temperate regions 
necessitate flood management, highlighting the need for accurate forecasting by agencies like the 
IMD. 

 

Name the process by which water turns to water vapour? 

Answer: The process by which water turns to water vapor is called evaporation. It occurs when 
water molecules gain enough energy, typically from solar heating, to break free from the liquid 
surface and enter the atmosphere as invisible water vapor. 

 

What are the sources through which water vapour reaches atmosphere? 

Answer: Water vapor reaches the atmosphere through several sources: 

• Evaporation from Oceans, Seas, Lakes, and Rivers: Solar heating causes water to turn into 
vapor, with oceans being the primary source due to their vast surface area. 

• Transpiration from Plants: Plants release water vapor through their leaves during 
photosynthesis. 

• Evaporation from Soil: Moisture in the soil evaporates when heated. 

• Sublimation: Ice or snow in cold regions turns directly into water vapor without melting, 
though this is less common. 

These processes contribute to atmospheric humidity, influencing weather patterns like rainfall. 

 

At the saturation level, what may be the relative humidity in percentage? 

Answer: At the saturation level, when the atmosphere is fully saturated with water vapor and 
cannot hold more, the relative humidity is 100%. This occurs at the saturation point, where 
condensation begins, forming droplets like dew or clouds. 
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What is condensation? 

Answer: Condensation is the process by which water vapor in the atmosphere cools and changes 
back into liquid water, forming tiny droplets. It occurs when air reaches its saturation point, typically 
due to cooling from rising air or contact with a cold surface. Condensation is visible as dew, fog, 
frost, or clouds and is a critical step in the water cycle, leading to precipitation like rainfall or 
snowfall. 

 

While Kerala receives Southwest monsoon rains, the western parts of Tamil Nadu receives very 
little rainfall. Why? 

Answer: Kerala receives heavy southwest monsoon rains due to orographic rainfall caused by the 
Western Ghats. Moisture-laden southwest monsoon winds from the Arabian Sea hit the Western 
Ghats, rise, cool, and condense, causing heavy rainfall on the windward side (Kerala). As the air 
descends on the leeward side (western Tamil Nadu), it becomes dry, having lost most of its moisture, 
creating a rain shadow region. This results in significantly less rainfall in areas like Coimbatore or 
Madurai compared to Kerala’s coastal and hilly regions, explaining the stark contrast in monsoon 
precipitation. 

 

Is hailstone a winter phenomena? Inquire. 

Answer: Hailstones are not exclusively a winter phenomenon. They form in cumulonimbus clouds 
during strong convection, often in warm, humid conditions, such as during summer thunderstorms. 
Water droplets in these clouds are carried upward by strong updrafts, freezing into ice pellets as 
they encounter cold upper atmospheric layers. Repeated cycles of rising and falling in the cloud add 
layers of ice, forming hailstones. While hail can occur in winter in temperate regions, it is more 
common during warm seasons in tropical areas like Kerala, where intense convection is frequent. For 
example, hailstones may accompany monsoon storms, indicating they are associated with specific 
weather conditions rather than just winter. 

 

What is the form of precipitation most familiar to you? 

Answer: The form of precipitation most familiar to me is rainfall. Living in Kerala, I experience 
frequent rainfall, especially during the southwest monsoon from June to September. Rainfall occurs 
when water droplets in clouds grow too heavy to resist gravity, falling as liquid water. It is vital for 
agriculture, replenishing water sources, and sustaining Kerala’s lush greenery, though excessive rain 
can cause floods and landslides. 
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Extended Activities 

1. Read the daily maximum temperature and minimum temperature using the max-minimum 
thermometer in the school weather station/social science lab. Estimate the daily mean 
temperature and diurnal range of temperature, and display it in the school notice board. 

Answer: 

• Procedure:  

1. Use the maximum-minimum thermometer in the school weather station to record 
the daily maximum and minimum temperatures. Reset the thermometer after each 
reading to prepare for the next day. 

2. Note the maximum temperature (highest recorded, typically around 2 PM) and 
minimum temperature (lowest, typically before sunrise). 

3. Calculate:  

 Diurnal Range of Temperature = Maximum temperature - Minimum 
temperature 

 Daily Mean Temperature = (Maximum temperature + Minimum 
temperature) / 2 

4. Prepare a display for the school notice board with the date, maximum temperature, 
minimum temperature, diurnal range, and daily mean temperature. 

• Example Calculation (Assuming max = 34°C, min = 26°C):  

o Diurnal Range = 34°C - 26°C = 8°C 

o Daily Mean Temperature = (34°C + 26°C) / 2 = 60°C / 2 = 30°C 

• Display Example:  

This activity helps students understand temperature variations and their recording, fostering 
practical weather observation skills. 
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2. Measure the daily amount of rainfall using raingauge for a particular period. Prepare a bar 
diagram using the data and exhibit it in your classroom. Remember to display the daily amount of 
rainfall in the notice board. 

Answer: 

• Procedure:  

1. Place a rain gauge in an open area of the school to collect rainfall daily, ensuring it is 
free from obstructions like trees or buildings. 

2. Measure the rainfall in millimeters each day at a fixed time (e.g., 8 AM) for a specific 
period, such as a week or month. Empty the gauge after each measurement. 

3. Record the data in a table with columns for date and rainfall amount (mm). 

4. Create a bar diagram:  

 X-axis: Dates 

 Y-axis: Rainfall amount (mm) 

 Draw bars for each day’s rainfall, labeling the height with the exact amount. 

5. Exhibit the bar diagram in the classroom, with a title (e.g., “Daily Rainfall: [Period]”) 
and clear labels. 

6. Display daily rainfall amounts on the school notice board alongside the temperature 
data. 

• Example Data Table (for one week):  

Date Rainfall (mm) 

01/06/2025       20 

02/06/2025        15 

03/06/2025          0 

04/06/2025          25 

05/06/2025          10 

06/06/2025          30 

07/06/2025           5 

• Bar Diagram Description: Draw a bar diagram with seven bars, one for each date, with 
heights corresponding to rainfall amounts (e.g., 20 mm for 01/06/2025). Use a scale (e.g., 1 
cm = 5 mm) for accuracy. Label the X-axis with dates and the Y-axis with rainfall in mm, 
titling it “Daily Rainfall: June 1–7, 2025.” 

• Notice Board Display Example:  
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This activity enhances understanding of precipitation measurement and data visualization, relevant 
to Kerala’s monsoon climate. 

 

 

3. Prepare a digital album by collecting pictures of different types of clouds using ICT. 

Answer: 

• Procedure:  

1. Use Information and Communication Technology (ICT) tools, such as smartphones, 
cameras, or online resources, to collect images of different cloud types: cirrus, 
stratus, cumulus, nimbus, and their combinations (e.g., cumulonimbus, cirrostratus). 

2. Observe the sky at different times and seasons to capture local cloud formations, 
noting the date, time, and weather conditions for each photo. Alternatively, 
download high-quality images from reputable websites (e.g., meteorological or 
educational sites). 

3. Create a digital album using software like Microsoft PowerPoint, Google Slides, or a 
photo-editing app:  

 Organize images by cloud type, with one slide or page per type. 

 Include a caption for each image, describing the cloud’s characteristics, 
altitude, and associated weather (e.g., “Cirrus: High-altitude, thin, feathery 
clouds, indicating fair weather”). 

 Add the date, time, and season of observation for local photos. 

4. Save the album as a PDF or presentation file and share it with classmates or display 
it digitally in the classroom. 

• Example Album Content:  

o Cirrus: Image of wispy, feather-like clouds at sunset. Caption: “Cirrus clouds, high 
altitude, composed of ice crystals, often precede weather changes. Observed: 
01/06/2025, 6 PM, summer.” 

o Stratus: Image of thick, gray cloud layers. Caption: “Stratus clouds, low altitude, 
cause overcast skies and light drizzle. Source: Online, winter.” 
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o Cumulus: Image of puffy, white clouds on a clear day. Caption: “Cumulus clouds, 
variable altitude, indicate fair weather but may develop into rain clouds. Observed: 
02/06/2025, noon, summer.” 

o Nimbus: Image of dark, rain-bearing clouds. Caption: “Nimbus clouds, low altitude, 
dense with water droplets, cause heavy rain. Observed: 03/06/2025, 3 PM, 
monsoon.” 

o Cumulonimbus: Image of towering, anvil-shaped clouds. Caption: “Cumulonimbus 
clouds, high vertical development, cause thunderstorms and hail. Source: Online, 
monsoon.” 

This activity fosters observation skills and digital literacy, helping students connect cloud types to 
weather patterns in their region. 

 


